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T I 7 A
S T — 1T H 802 1,664 829 835
$5h) T —TH 557 1,303 639 664
$5h) T —=TH 759 1,619 827 792
3k  /hE * % 2,118 4,586 2,295 2,291
=il — 1 H 1,244 2,534 1,223 1,311
=il NE 1,229 2,281 1,114 1,167
Z=oalil —= 1T H 1,345 2,670 1,305 1,365
=il uTH 839 1,963 980 983
* %k /phE * % 4,657 9,448 4,622 4,826
E=IREe — 1 H 1,018 2,022 971 1,051
E=IREe —TH 1,030 2,150 1,024 1,126
E=IREe =TH 1,715 2,970 1,398 1,572
=Rk L E 1,107 1,774 843 931
* %k /phE * % 4,870 8,916 4,236 4,680
B — 1T H 1,015 2,008 999 1,009
)1 —TH 695 1,638 825 813
)1 =TH 1,187 2,612 1,281 1,331
)1 L E! 925 1,988 989 999
* %k /phE * % 3,822 8,246 4,094 4,152
PHET)I — 71 H 884 1,826 897 929
PRET)I| —TH 747 1,665 780 885
PRET)I| —=TH 364 795 376 419
PRET)I| T H 1,392 2,916 1,452 1,464
* % /pNEF % % 3,387 7,202 3,505 3,697
* k 2REE* % 43,040 83,384 40,404 42,980
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I T | Bk 7 z
FR AR —TH 3,075 6,356 2,962 3,394
FRAHT  — T H 732 1,509 742 767
FRAHT =T H 1,212 2,655 1,301 1,354
FOiRART PUTH 2,098 3,501 1,520 1,981
*k  hEE kk 7,117 14,021 6,525 7,496
o IR — 1 H 1,146 2,048 998 1,050
o AR —TH 969 1,981 1,009 972
o IR —=TH 1,475 2,870 1,422 1,448
o AR T A 685 1,436 710 726
o AR LT H 1,852 3,679 1,863 1,816
*k  hEE kk 6,127 12,014 6,002 6,012
VG iR —T1H 784 1,131 569 562
VG iR —TH 488 920 407 513
*k  hEE kk 1,272 2,051 976 1,075
TR —T1H 728 1,195 563 632
TR —TH 761 1,486 732 754
TR =TH 534 838 417 421
*k  hEE kk 2,023 3,519 1,712 1,807
HUFIIR — 1 H 2,062 3,125 1,412 1,713
HUFIIR —TH 806 1,327 618 709
HUFIIR —~TH 954 1,664 786 878
HUFIIR T H 415 617 305 312
TS 4,237 6,733 3,121 3,612
5 — T H 590 1,078 546 532
5 —TH 759 1,601 815 786
5 =TH 1,416 2,695 1,326 1,369
Y5 T H 645 1,274 629 645
TS 3,410 6,648 3,316 3,332




